
030208a (25 keV, 1.5 sec.) / rutile #55-2

0 28.231050CT value (LAC), cm-1
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PP0 = 19.595670 cm-1 / CW0 = 2.546330 cm-1
PP1 = 19.595670 cm-1 / CW1 = 2.435620 cm-1
PP2 = 19.595670 cm-1 / CW2 = 2.435620 cm-1

030208b (20 keV, 2 sec.) / rutile #55-2

0 53.349570CT value (LAC), cm-1
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PP0 = 36.612450 cm-1 / CW0 = 3.765852 cm-1
PP1 = 36.612450 cm-1 / CW1 = 3.556638 cm-1
PP2 = 36.821664 cm-1 / CW2 = 3.556638 cm-1

030208c (10 keV, 2 sec.) / quartz #67-2

0 64.267905CT value (LAC), cm-1
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PP0 = 43.601363 cm-1 / CW0 = 4.032496 cm-1
PP1 = 43.853394 cm-1 / CW1 = 4.032496 cm-1
PP2 = 43.853394 cm-1 / CW2 = 3.780465 cm-1


